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QUESTION 1

Several applications are deployed to a managed server. You want to compare the number of completed requests for all
of these applications. What is the quickest wat to accomplish this?

A. Launch WLST and run the viewAppRuntimes () command.

B. Access the Monitoring Dashboard. Click the Application Work Managers view for the managed server.
C. Access the Administration Console. Click Monitoring > Work Manager tab for each application.

D. Access the Administration Console. Click the Deployments page.

E. Run weblogic.Deployer with the -status parameter.

Correct Answer: C

QUESTION 2

GridLink data sources are designed for use with an Oracle RAC database. By using the Fast Connection Failover (FCF)
pattern, GridLink data sources can quickly react when a RAC node goes down.

Which two statements are true?

A. The Oracle Notification service is used to notify the data source of changes to RAC nodes.
B. The reaction is quick, because in using FCF all network timeouts are set very low.

C. FCF is faster because it polls and tests connection, freeing the data source from these tasks.
D. FCF requires the use and configuration of a database server in the GridLink data source.

E. You can use any Oracle Thin database driver with a GridLink data source.

Correct Answer:. AD

QUESTION 3

Which two statements are true about WebLogic data sources?
A. Data sources are targeted to a domain.

B. Data sources are bound in the JNDI tree of a server.

C. Data sources are based on the JMS specification.

D. A data source contains a connection pool.

E. A domain requires at least one data source.
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Correct Answer: BD

QUESTION 4

Which two statements are characteristics of the Reconfiguration Wizard? (Choose two.)
A. You can upgrade any domain that was created using WLS 9.2 and above

B. The Reconfiguration Wizard allows you to change the domain mode

C. The Reconfiguration Wizard allows you to select a different Java JDK

D. The Reconfiguration Wizard does not allow the reconfiguration of JDBC data sources
E. You can upgrade only a domain which is running WLS 10.3.x or later

Correct Answer: DE

QUESTION 5

Your administration server goes down. One of the managed server of the domain is also currently shut down. This
managed server has been successfully started in the past. You cannot bring up the administration server right away, but
you need to start the managed server. You run the start script, but the managed server will not start. Explain this.

A. This managed server has disabled Managed Server Independence mode

B. Managed servers always contact their admin server for the latest configuration. When the admin server is down, a
managed server cannot be started.

C. This managed server must be part of a cluster and the cluster master is also down
D. This managed server must reside on the same machine as the admin server

E. The domain must use the embedded LDAP for authentication. Without the admin server, the managed server cannot
get updates to its local LDAP store

Correct Answer: A
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